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1.

SECTION - A

i) General Awareness

Sri Lanka is separated from India by

which of the following strait ?
(A) Palk strait

(B) Malacca strait

(C) Gibraltar strait

(D) None of the above

Which of the following mountain range
is considered as the continuation of the

Western Ghats ?

(A) Satpura hills range
(B) Aravali hills range

(C) Cardamom hills range

(D) None of the above

Where was the design of our national
flag adopted ?

(A) Surat Session of Congress, 1907
(B) Constituent Assembly of India, 1947
(C) Haripura Congress Session, 1938

(D) None of the above
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4. From where was the National Emblem

of India adopted ?

(A)
(B)
(C)
(D)

Lion, Capital of Ashoka at Saranath
Mundaka Upanishad
Pataliputra, Capital of Ashoka

None of the above

5. Select the right statement about

the Government of India Initiative

Digiyatra.

(A)

(B)

(D)

It was launched by the Union’
Ministry of Civil Aviation
It was launched by the Union

Ministry of Tourism

It was launched by the Union

Ministry of External Affairs

None of the above

6. Which one of the following

organization releases the “Living
Planet Report” ?

(A)

(B)

(C)
(D)

The World Wildlife Fund

IUCN (International Union for

Conservation of Nature)
Botanical Survey of India

Zoological Survey of India
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(B) W ErEt
(C) Tomsee @rel
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. R TR ZI0 I i R &

TR # el Hea g |

(A) & T AR 38 96 g
[ I T

(B) T& F qie WA g I&
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(C) I= wgr faesht areti & g3 g
& i 1T

(D) 3T H & FIE 7

. Fafafes 4 8 wh - gen ot

e frare” st et € 2

(A) T TeE AFEEATRE HS

(B) IUCN (3t I it
FAYH 3T =)

(C) el urey fersma waaor

(D) W S fagm waem
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10.

When was National Youth Day observed
every year ?

(A) 12" January
(B) 21 March
(C) 21¢ June

(D) None of the above

When was National Science Day
observed every year ?

(A) 14" February
(B) 28" February
(C) 21% October

(D) None of the above

“Hand in Hand” a joint military
exercise held between which of the

following countries ?

(A) India and China

(B) India and UAE

(C) India and Bangladesh
(D) India and Nepal

‘Dharma Guardian — 2018’, a first ever
joint military exercise of India with
which of the following country ?

(A) Nepal
(B) Bhutan
(C) Japan
(D) China

11.

12.

13.
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Which of the following Indian regions

were affected by the cyclone Mora ?
(A) North East Part of India

(B) Coastal Region of Gujarat

(C) Coastal Region of Karnataka

(D) None of the above

Choose the correct pair of cyclones

and its affected areas.
a. Cyclone Fani — Odisha Coast

b. Cyclone Gaja — Tamil Nadu Coast

Choose the right option given below :
(A) Only a is correct

(B) Only b is correct

(C) Both a and b are correct

(D) None of the above

“Minamata Convention” is a global
treaty to protect human health and
environment from the adverse effect

of which of the following chemical ?
(A) Boron

(B) Uranium

(C) Mercury

(D) None of the above
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10.

gt s U gan feaw &a 7w
St @ ?

(A) 12 SHat

(B) 21w

(C) 21

(D) Swdaa & Fr§ 7

afa ad wdig fagm foam = 7amn
ST g ?

(A) 14wl

(B) 28wl

(C) 213

(D) Iwiwa # q g 7

FT H FTY U TYF T A
fFreafafaa & & foFm 3wt o <= gom 2
(A) Wa 3 ==

(B) WRa 3R T3.

(C) ¥E AR ITeney!

(D) WRa R AuTer

‘o iféas — 2018, W 1 TR
wFd 81 ey Fraferfaa & @ fora
37 WY §IAT ?

(A) T

(B) ™

(C) SM

(D) ==

11.

12.

13.
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frfafaa § 9 FR-3 ot &9
=FhATd I g AT §Y 2

(A) T =T IR ga fe

(B) TSWIG N AL &

(C) icesh =1 adig &

(D) 3w H & IS 7

=IShaTd 3T 3% 510 STferd &1 o wat
W g

a. Thald Bl - IifeI e

b. THFAW TS  — AHAAG aC
2 e § e faswen g

(A) Fad a Tl & |

(B) Fat bHel &

(C) a 3R b3 wet &

(D) 3Ivde & @ hrg T

“fmTer e Freforfiaa o 4 form e
& WA | HIE TR TR qHiaR
T F AfrEm i g 2

(A) FREA
(B) FtFm
(C) 9

(D) 39 & & S T
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14. India is a Signatory for which of the 18. Which of the following tree species
following organization ? considered as a National tree
(A) UNEP (United Nations Environment of India ?
Programme)

(B) EDF (Environmental Defense (A) Indian Banyan tree

Fund) (B) Ashoka tree

(C) World Watch Institute
(C) Neem tree
(D) None of the above

(D) None of the above
15. Which of the following Amendment Act

for the Indian Constitution adopted a

Fundamental dutiesin it ? 19. Nobel Award, 2018 for Economics

(A) 42 Amendment Act awarded to William Nordhaus and

(B) 32" Amendment Act Paul Romer for their contribution to
(C) 52" Amendment Act (A) Behavioural economics

D
(D) None of the above (B) Contract theory

16. CAG of India is appointed by whom ?
(A) President of India
(B) Prime Minister of India
(C) Lok Sabha Speaker economic growth

(D) None of the above (D) None of the above

(C) Integrating climate change and

technological innovation with

17. Choose the correct pair of Railways

with its Headquarters. 20. The Headquarters of International
a. Central Railway - Mumbai Court of Justice located at
b. Northern Railway — New Delhi (A) Rome, ltaly

Choose the right option given below :

hai. Chi
(A) Both a and b are correct (8. Shanghal, Laina
(B) Only ais correct (C) The Hague, Netherland

(C) Only b is correct (D) None of the above

(D) None of the above
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15.

16.

i Ffefiad 3 9 form geen =

BTG & 2

(A) UNEP (TATEeE 49T THaRHE
)

(B) EDF (THamwed fehd %e)

(C) dce ard TEISge

(D) 39ge | & 13 T

Fraffeaa 8 9 F9-8 v g@iaae
% wmeH i 3 Wifers wdel 3
AT B 2

(A) 42T guny AfefTay

(B) 32 af gunem rfafemy

(C) 5241 quyH rfufam

(D) 3w H & I3 7

91d % CAG =il Fafaa #F sFtan 2 2
(A) a1 Tegafa

(B) ST ohT WTHHAL

(C) AT T

(D) 3w H & IS T

17. Id 3R 35 GEATed & Hel I

T |

a. FaA@d - s

b. IWMITE - % e
Hra few o B & we faspew g
(A) a 3R b Tl el &

(B) ¥aci a T B

(C) FadAbde B

(D) I H & s e

18.

19.

20.

MKG-XVI/TECHCICHN/IT/03
frafafaa § 4 FR-d 38 gl =
WRA 1 LT &I THT ST 8 2
(A) HRAE 92 &

(B) 91T g&

(C) Hm3&

(D) 3Iwad § © I3 T

e JEERR, 2018 e | faferam

T 3T T UL 1 399 Hq
InTeH &g e T g |

(A) AR SFTE

(B) wfeet fagra

(C) znisie gfg = w1y Sieraryg fad
S eFTehT TR 31 TR

(D) 394 & © ig T

AR =T ey
Az |

(A) T, geeit

(B) ¥rHTE, =i

(C) =, Hetele

(D) 35w 8 § 1S e
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ii) General Intelligence and Reasoning Ability

One student is asked to divide a half of
a number by 6 and other half by 4 and
then to add the two quantities. Instead of
doing so, the student divides the given
number by 5. If the answer is 4 short of
the correct answer, then the number was

(A) 320
(B) 400
(C) 480

(D) None of the above

Daily earnings of two persons are in the
ratio 4 : 5 and their daily expenses are
in the ratio 7 : 9. If each saves % 50 per
day, their daily incomes in  are

(A) 40, 50
(B) 50, 40
(C) 400, 500

(D) None of the above

In a family of 6 members, B has 2
daughters and an unmarried son. N is
Q’s (female) brother-in-law. ‘L' has a son
‘S’. Qis F's sister. B is L's father. Then
FisS’s

(A) Father

(B) Brother

(C) Aunty

(D) Uncle

24,

25.

26.

A, B, C, D and E are 5 shopkeepers.
They have to be arranged in a particular
order in 6 shops, as per the condition
given below :

1) E occupies a shop after D.

2) A and E do not occupy the end
positions.

3) There are 2 people and 3 shops
between A and C.

4) B occupies position 1.
Who occupies the shop nextto B ?
(A) A
(B) Dand A
(C) C
(D) E

Ifin a certain code language NAME is
written as 4258, then what is coded as
MEAN ?

(A) 2458
(B) 5842
(C) 8524
(D) 5824

2,7,16, 2, 46, 67, 92.
(A) 29
(B) 35
(C) 36
(D) 41
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i) AT gigwan qun arfde araar

e foremeff =1 us T % S H 6 T 3N
arehl % Y 4 W e w9 % g
el ST & 3R A1 AES’ i e &
fore = ST 2 | 7 ) s fremeff
& 71 e Fi 5 @ fawifsa Far @ 3l
I TE W A 4 FH B, 1 98 T o
(A) 320

(B) 400

(C) 480

(D) 3uded H § IS 42

2 e it A s 4 5 H U A R
WM FHFFE I 7:9F AU 2 |
Ife g1 2 50 9 fe s=m €, ot Ieht
wmamzHR

(A) 40,50
(B) 50, 40
(C) 400, 500

(D) Iudad H | FIS e

6 GeWl & U UiER #, B 1 3 =i @
AR s HAfanfed = 21 N, Q (vfeen) =
TR ILUHFAITSRIQ FRTEAR |
B, L U@ &1 @ F, S 2l

(A) Toan
(B) g
(C) =Tt

(D) =r=n

24.

25.

26.

A,B,C, D3R E¥E 53FHaR & | 3= =

& 7T 71 o STER 6 g H U fam

F0 H TIEId FEATR

1) EFIZFADFARE |

2) AR E 3ifon s WA 2 |

3) A 3R C F st 2 =afa o
3TFHT |

4) BYYH TIH WL |
B Y 3Tt M fheehl & 7

(A) A

(B) DA

() C

(D) E

32 weh ffvera g2 a9 & NAME &t
4258 foran siran =, 1 foreer 32 MEAN
& 7

(A) 2458

(B) 5842

(C) 8524

(D) 5824

2,7, 16, 2, 46, 67, 92.
(A) 29
(B) 35
(C) 36
(D) 41
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27. Find the odd man out,
16, 25, 36, 62, 144, 196, 225,
(A) 36
(B) 62
(C) 196
(D) 144

Direction for Q. No. 28 and 29 :

4 people A, B, C, D stay on 4 different floors
of a building and each one of them prefers a
particular brand of watch from the following :

— Omega, Titan, Fastrack, and Citizen

1) A takes either the 4" or 3* floor and
prefers Titan.

2) B stays just above the person who
likes Citizen.

3) Person who likes Fastrack stays on
the 4™ floor.

4) D stays on a higher floor than C.

28. Who stays on the first floor ?
(A) A
(B) C
(C) B
(D) D

29. Who prefers Citizen ?
(A) A
(B) D
(C) B
(D) C
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For questions 30 and 31 refer to the data
below :

A-B

,AoB=—-2—,Aa::B=A+B

A-B’

AAB=A+B

30. Find the value of (2A8) O (6A4).
(A) 10
(B) 20
C) 0
(D) 2

31. Find the value of (1006) A (28020).
(A) 5
(B) 6
(C) 8
(D) 10

32. Sound : Cacophony
(A) Taste : Style
(B) Touch : Massage
(C) Smell : Stench
(D) Sight : Panorama

33. Here are some words translated from
an artificial language.
moolokarn means blue sky
wilkospadi means bicycle race
moolowilko means blue bicycle
Which word could mean ‘race car’ ?

(A) wilkozwet
(B) spadiwilko
(C) moolobreil
(D) spadivolo
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27. gy fiy= Bifew | 99 &A1 30 3R 31 F fere = fou 72 siferet
16, 25, 36, 62, 144, 196, 225. %1 desl fifsro -
(A) 36
(B) 62 AAB:A;B,AOB=%,ADB=:$,
(C) 196 A-B
(D) 144 ATB= B
_ 30. (2A8) O (6A4) T HH Td H |
U . 28 37T 29 % foru fdw ¢ (A) 10
4=afFq A, B, C, D 0 391 ¥ 4 =1 dfvedi @ (g) go
e § s a & o oo d 3 ww e | (O 0
EﬁiiEﬁT‘Tgi‘Tg:ﬁTTig: |
—> 3{THT, 2MEH, FIESTH AN ffesm 31. (1006) A (28020) 31 W4 3d 3 |
| . (A) 5
1) AT et 2wl s o 2 sk (B) 6
23S 1 TTuTHear Sar @ | (C) 8
2) B3R F % S0 E L, 5 fufsm (D) 10
UGS HAT S |
: 32, @M : wieed
3) % Al A BIEdH THE HA &, 98 9 (A) T : =
G W@ ® | (B =t w
4) D,C¥ 34 A M TEd § | (C) T¥: gl
28. WU HiYE W HE war e ? 1B) e <)
i 33. el UF FHW AT A TS 73 IR Ay
() © T E |
(C) B moolokarn &1 319 blue sky &
(D) D wilkospadi %T 319 bicycle race 2
moolowilko T 319 blue bicycle ?
29. @ fafes i mufhewar 3 2 ? Precturseat 314k hane car ST 4
(A) A (A) wilkozwet
(B) D (B) spadiwilko
(C) B (C) moolobreil
(D) C (D) spadivolo

41
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34,

35.

36.
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Tanya is older than Eric.

Cliff is older than Tanya.

Eric is older than CIiff.

If the first two statements are true,
then the third statement is

(A) True

(B) False

(C) Uncertain
(D) None of these

Fact 1 : Jessica has four children.
Fact 2 : Two of the children have blue
eyes and two of the children have brown
eyes.
Fact 3 : Half of the children are girls.
If the first three statements are facts,
which of the following statements must
also be a fact ?

|. At least one girl has blue eyes.

Il. Two of the children are boys.
lll. The boys have brown eyes.

(A)
(B)
(C)
(D)

Il only
| and Il only
Il and Il only

None of these

Find the missing number.
48, 24, 96, ?, 192.

(A) 48
(B) 47
(C) 44
(D) 54

37.

38.

39.

40.
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If A =1, FAT = 27, then FAITH = ?
(A) 44
(B) 45
(C) 46
(D) 36

If P is the husband of Q and R is the
mother of S and Q. Whatis Rto P ?

(A) Mother

(B) Sister

(C) Aunt

(D) Mother-in-law

LARGE : NCTIG :: QUIET :
(A) SWKGV
(B) GKVWS
(C) RPQMN
(D) TEIUQ

There are 5 different houses, A to E
in arow. A is to the right of B and E is
to the left of C and right of A, Bis to
the right of D. Which house is in the
middle ?

(A) A

(B) B

(C) C

(D) D
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T, R A R |
fFes, AR @ = R |
e, s d a2 |
afe Tg 3 FUH T €, T g FUA ®

(A) @&

(B) aH

(C) sffrem

(D) &4 & IS A&

a1 SR & S = © |
w2 : 3 gl ot Aieft 37Td B AR
sreat Y oft i € |
AT 3 ; 37TY o= el B |
Ifs ged 19 %o a2 B, Pefafaa § @
HIT-FT AT TH qeT 8 7
. oH T T o e 3iid 2 |
II. & s oI § |
I, e it 3fd ol & |
(A) Il Faa
(B) 13RIl Fae
(C) Il 3R Il Fas

(D) ¥ ¥ IS TE

T T 71 |
48, 24, 96, 2, 192.
(A) 48
(B) 47
(C) 44
(D) 54

37.

38.

39.

40.
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e A=1, FAT=27,d FAITH="?
(A) 44
(B) 45
(C) 46
(D) 36

I P, Q&1 9l 2 3R, S I QFr af
2, AR P & HaY 7

(A) =T

(B) =&
(C) ==
(D) &

LARGE : NCTIG :: QUIET :
(A) SWKGV
(B) GKVWS
(C) RPQMN
(D) TEIUQ

s ARETHUfFHE | A BH
M HRE, CHaMI FAF LR | B,
DHIMR | Fm g d & ?

(A) A

(B) B

(C) C

(D) D
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iii) Arithmetical and Numerical Ability

If HCF of 96 and 404 is 4, then their
LCM is

(A) 9090

(B) 9696

(C) 96 x 404

(D) None of these

On dividing x* — 3x? + x + 2 by a
polynomial g(x), the quotient and
remainder were (x — 2) and (—2x + 4)
respectively. Find g(x).

(A) x*-1

(B) x*+3x-2
(C)
(D)

X2—x+1

X+ x-1

The number of terms in the Arithmetic

(A) 27
(B) 26
(C) 20
(D) 19

A ladder is placed against a wall such
that its foot is at a distance of 2.5 m from
the wall and its top reaches a window
6 m above the ground. Find the length
of the ladder.

(A) 85m
(B) 45m
(C) 8.5m
(D) 65m

45.

46.

47.

The points A(5, —2), B(6, 4) and
C(7, -2) are the vertices of

(A) An isosceles triangle
(B) Equilateral triangle
(C) Right angled triangle

(D) None of these

If15cot A=8,thensecAis

A %47

(8) 174
©) 8,

(D) 15,

If one angle of a triangle is equal to one
angle of the other triangle and the sides
including these angles are proportional,
then the triangles are

(A) Congruent
(B) Similar
(C) Both (A) and (B)

(D) None of these
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iii) TERTTOTE Ud HEATeT TrEaT

afg 96 3R 404 1999 4 2, d I9H
ET 2

(A) 9090

(B) 9696

(C) 96 x 404

(D) 378 @ 1S e

X®— 3X? + X + 2 I T GgIE g(x) § |
S T TR ST SIS SHIT: (x = 2) 37

(~2x + 4) & | g(x) Fra Hifow)
(A) x*—1

(B) x*+3x—-2

(C) x—x+1

(D) x*+x-1

T Aft 18, 15%, 13 ...
i AT B

(A) 27

(B) 26

(C) 20

(D) 19

- 47 ¥ 9@

U Higl diar & @Y 36 THR o T 2
o sos SR dEan @ 25 mAi gl w R
IR IEF I ST & 6 m T o faght
e TgEd © | €It 1 e 91d |

(A) 85m

(B) 4.5m

(C) 35m

(D) 6.5m

45.

46.

47.

fa1g A(5, -2), B(6, 4) 3T C(7, -2)
F I 2 |

(A) T gufgeTg By
(B) &H=Tg By
(C) TR firget

(D) ¥ & =i Tel

IfE 15cot A=8, disec A2

A %47

® 174
©) &,

@) 5,

afe T s =1 U i g Biye % s
10T o ST B 3T 3 IV Y S et

ST AT &, ot st &
(A) gafmeg

(B) THEY

(C) (A) 3R (B) T

(D) ¥ ¥ F1§ T
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48.

49,

50.

The area of a sector of a circle with
radius 6 cm, if the angle of the sector

is 60°, is (Use = g?g]

(A)
(B)
(C)
(D) 132 cm?

When a fair die is thrown, the
probability of getting a number greater
than 3 is

(A)
(B)

(C)

(D)

Do = Bl N|=

The wickets taken by a bowler in 10
cricket matches are as follows :
2,6,4,502,1,3,2,3.

Then the mode of the data is

(A) 6

(B) 5

(C) 4

(D) 2

51.

52.

53.
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The cost of fencing a circular field at
the rate of T 24 per metre is ¥ 5,280.
The field is to be ploughed at the rate
of X 0.50 per m?. The cost of ploughing
the whole field is (Take n= 2%4)

(A) % 1,925
(B) % 225
(C) ¥ 2,025

(D) None of these

Simplified value of

(0.3)* (0.09) 72(0.027)6
)/ 1S
(0.0081)

(A) 0.3
(B) -0.3%
(C) (0.3)7
(D) 0.3

If the sum of two numbers is 15 and
their difference is 3, then the numbers
are

(A) 5and?2
(B) 9and6
(C) 3and5
(D) 5and 10



48.

49.

50.

AF-

w g g 531 6 om @ i afe 3o
FrsarEs %1 wiv 60° 2, 1 fsamEs =
m%(n=2%mmaﬁ)

13

(A) ?cm2

132,
—Ccm
®) —

Ecm2

€ -

(D) 132 cm?

TS Ueh AT UTHT Yokl ST B, A1 3 F
P T T S wifrRar B

(A)
(B)

(C)

D = Al N —=

(D)

10 ferere B0 ® w% fies gy forw o
farekel <t e Fegem #
2,6,4,5,0,21,8,2,3.

I SHihS! F agh &

(A) 6

(B) 5

(C) 4

(D) 2

51,

52.

53.
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U JUTRR W % IR AR 1T S
WY T 24 gl @ i@ T 52802 |
T i S 1 @9 % 0.50 Tfam? B 1q
W % S @ o (n=22/7a°rﬁv‘rq)

(A) T 1,925
(B) % 225
(C) % 2,025

(D) ¥ & =IE 7E

4 % %
(0.3)" (0.09) (8.027) . Hﬁ;ﬁ?’_ﬂ
(0.0081)%

T+ 2

(A) 0.3

(B) -0.3%

(C) (0.3)7
(D) 0.3

Ife 2 Tt 1 AT 15 & R I
W 38, I 98 =AM &

(A) 53R 2
(B) 936
(C) 335
(D) 53R 10



L
%

54,

55.

56.
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If o and B are the roots of the equation
3x2—10x + 7 =0, then o’ +p2a=

A 7
® 9%

€ 79%
@ %

The value of 1 — cos?245° is

J2

1
(B) 5

(A)

(C) ¥3

2

(D) 1

The time taken for a sum of money to
double itself at 8% per annum simple
interest is

(A) 10 years
(B) 8years
(C) 12years
(D) 12.5years

57.

58.

59.

60.

MKG-XVI/TECHCICHN/IT/03

The average weight of a group of 35
people is 47.5 kgs. If a 36" person is
added to the group, the average weight
increases by 0.5 kg, then the weight of
the 36" person is

(A) 65.5 kgs
(B) 70 kgs
(C) 60.5 kgs
(D) 65kgs

E,thena+b+c=
7 ()

(A) 2
(B) 3
(C) 4
(D) 1

The sumof1,3,5, 7,....to 30"
term is

(A) 900
(B) 950
(C) 800
(D) None of these

One year ago, a man was 8 times as old
as his son. If his present age is equal
to the square of his son’s age, then the

present age of the sonis
(A) 7 years
(B) 6 years
(C) Syears
(D) 8years
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54.

55.

56.
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I3 o 3 B EiET 3x2— 10x + 7 =0
FAAR, A o’p+po=

A 7
B 7%
(A

© 9%

1 — Cc0s245° FT OH &

V2 -1

(A) )

1
® 3
(c) V3

2

(D) 1

O It T Ga F S B % U 8%
gfe ¥ qramer =9 #it @ A fraar a9y
& ?

(A) 103§
(B) 8 ..
(C) 1238
(D) 12599

Sy

58.

59.

60.
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35 SAfadal < HHE 1 3Gd 9H 47.5 kgs
2 | 3t w 36 af =faa gz o s e
ST, & Ed 97 0.5 kg =g ST 8,
36 9 =fFa &1 IR 2

(A) 65.5 kgs

(B) 70 kgs

(C) 60.5 kgs

(D) 65 kgs

1,3,5,7,.. 9303 e ame
(A) 900
(B) 950
(C) 800

(D) 78 & s 7

T 98 qd, U SAfaa i 37 39 T I
G % 8 o off | A ITF A g
9 G A A F I F IO R, A
&l FAaE g R 7

(A) 799

(B) 6a%

(C) 53¢

(D) 8a¥



61.

62.

63.

64.

65.

66.
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iv) Hindi Language and Comprehension

2=t wren iR =iy
fafgg v su SR A s qer sl ®t | 67. ‘e yaw ST F wat s | e A
#Fed ©, S gahs T8 oy S H i oS 8

et | () @ ®) Fm
(A) = (B) vrHTe (C) UTER (D) syl
(C) W& (D) =T
“ShIH T HTT 59 YT o 3 B 68. YTl &l T @
(A) AT (A) Ve (B) deew
(B) =T A A T (C) wigshife (D) HHUTE
© mgm%\gm 69. ‘g wreg 1 3 B
(D) <A =Rl TATRIHT A ®)
30 Y e TG 9158 1 o7 T 7 (C) "= (D) A & 1S T
(A) TS (B) H=X

) (A) | (B) =1
fom + 3T = ferere Al _____ (C) (D) e
g |
(A) FopEfer (B) T EY 71. e + :fY =
(C) <@t (D) gfgaf (A) JeTi (B) Fafy

(C) =fefy (D) =<
F+HA+H+A+q+H=
IuR T % Al 9 ek P AT L | o, RIf 31 o1 g w9
i s () fi ®) frird
(C) =He (D) e ©) frt ©) fif
‘e @ G Il St & | 9% e 73. FETMH AW E || I H
FrEA R | a2

(A) FHar= (B) FqarA (A) 1 (B) T
(C) wrasT=d (D) IS A (C) g (D) =8 2 = 7
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74.

75.

76.
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T e ¥ G € || 39 9 | {@ifhd 98
I FF & 7

(A) FaiFTE  (B) U FH
(C) w4 FIH (D) HYEH FH
Sgert ferfa |
RICAICLE aref
. FHAHFAT FH. ATST GH I
T HHUE AT
o IS TR @, @ A FS
- Behd SIY e1-feran g
.omdiadt N sl
3Hh 99 & [
g g
S asiFFATA  H. o Vit
WHATRZH ol S Bl 2
ITIFHAR T T I IH
ST T ? Y SATETIHAl
Bl
) () 3 G) Q)
A FF @ T 9 ¥
B @ & W T H
€ @ T u T F
M@ % ¥ T T
‘Fam 958 1 A B

(A) - fereft = g Tt 7T Iuehm ht Suam
A 1A

(B) Toreft % g fha U 3usp =1
TR FA JTe

(C) =9 =l T THEE Tl

(D) T I T A AT

7.

78.

79.

80.
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“Tesar’ wTee 1 3= T &9 &

(A) TEssit (B) fesfi

() feferm (D) st
3“%“+f\@?‘ﬂ=

(A) g (B) IuTE
(C) efigen (D) 3muflEen

‘Tiferer g =t avi-fo=ae fafan |
(A) T+M+T+3+F+ A

(B) 1+ +H+3+q+FH+H
C) A+HA+H+A+A+5+7%F
D) 9+3AT+H+d+3+F+H

Sirga ffa |
. gEuTA %F. qogEY T
1. HeTehme Q. FAFH9E gHE
3. el T, FHHURE G
3. Fumefi o, gie qu
3. foe 5. Rywme
() M) G 6@ @
A & T T @ H
B @ ¥ & T T
€ & T s W H
D) &% T T ¥ @
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v) English Language and Comprehension

ST w3 Ay

81. The wealthy farmer surveyed his
fertile fields.
The underlined word is

(A) averb
(B) apronoun
(C) ' an adjective
(D) an adverb
Fill in the blanks with appropriate word.

82. The tourists arrived by road and
rail.

(A) in
(B) by
(C) through
(D) an
83. The land was formed in accordance
the best modern ideas.
(A) by
(B) for
(C) with
(D) from
84. The giant was ugly
kind.
(A) but
(B) though
(C) for
(D) till
Identify the indirect object in the following
sentences.
85. Kate gave Jean an expensive present.
(A) gave
(B) Jean
(C) Kate
(D) present
86. The chef made the late arrivals a hasty
supper.
(A) the chef
(B) the late arrivals
(C) made
(D) a hasty supper

he was

Fill in the blanks with appropriate article if
necessary.

87. whale is an endangered
species.

(A) A

(B) The

(C). An

(D) Not necessary
88. He was

(A) an

(B) a

(C) the

(D) not necessary
Fill in the blanks with appropriate verb form.
89. He her letter a week ago.

(A) received

(B) had received

(C) has received

(D) receive

90. He has
(A) Sleeping
(B) Slept
(C) Been sleeping
(D) Sleep
Select appropriate phrasal verb to
fill in the blanks.
91. Doctors are often
(A) called off
(B) call up
(C) called out
(D) call through
92. If you are a diabetic, you must
sugar.
(A) cutout
(B) cut off
(C) cuton
(D) cutin

useful person.

for five hours.

at night.
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Select the wrongly spelt word.
93. (A) jargon
(B) alian
(C) regimen
(D) extract

94. (A)
(B)
(C)

(D)

Pick out the word that is most nearly the
same in meaning as the given word.

twinge
imbue
sceptics
alegiance

95. DINGY -

(A) spotless
(B) dusty

(C) immaculate
(D) unsoiled

96. REALM

(A) province
(B) give up

(C) surrender
(D) turn over

Read the following passage and answer the
questions (Q. No. 97 to 100) :

Some birds have two homes — one for the
winter season and the other for summer. Each
year they migrate from their winter homes to
their summer homes and back again, flying
thousands of kilometers across many countries
and oceans. But the wonder is that they never
get lost; they always manage to find their way
home even though they have to travel such
vast distances. This is one of the misteries of
nature. Some ornithologists who have studied

23
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the migratory habits of birds think the creatures
may have some kind of direction finding
instrument in their brains. Others believe
that they are able to find out their position by
referring to the position of the sun or the stars
in the sky just as sailors do at sea.

97. Find an appropriate word from the
passage to fill in the blanks.
Thousands of workers
area each summer.

(A) Direct

(B) Migrate

(C) Sails

(D) None of the above

to this

98. Find one word substitute for the following

from the passage.

‘A person who studies about birds.’
(A) Sailor

(B) Mystery

(C) Ornithologist

(D) None of the above

99. What is surprising about the migration

of birds ?
(A) They migrate from one place to
another

They travel vast distance

They manage to find their way
home

None of the above

100. How do sailors find out their position ?
(A) By contacting the shore authority
(B) They refer the position of the sun
(C) They refer the position of the stars

(D) Both (B) and (C)
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101.

102.

103.

104.

105.

SECTION - B
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Post Specific Subject - Related Questions

Which region of the transistor is heavily
doped ?

(A) Base

(B) Collector

(C) Emitter

(D) All of the above

In a class A amplifier, the collector
current, | flows for

(A) 180° of the ac input cycle

(B) 360° of the ac input cycle

(C) 120° or less of the ac input cycle
(D) 90° of the ac input cycle

What is the biggest disadvantage of
the common-base amplifier ?

(A) its high input impedance
(B) its low voltage gain

(C) its high output impedance
(D) its low input impedance

When potential at anode is smaller than
the potential at cathode, diode is said
to be

(A) Forward biased
(B) Reverse biased
(C) Unbiased

(D) None of the above

For ideal voltage source, internal
resistance is

(A) Infinite

(B) Zero

(C) Constant

(D) None of these

106.

107.

108.

109.

110.

Ohm'’s law cannot be applied to
(A) Resistor

(B) Capacitor

(C) Inductor

(D) Diode

1joule=___ calories.
(A) 0.21
(B) 0.24
(C) 0.28
(D) 0.22

In a series circuit,
constant.

(A) Current

(B) Voltage

(C) Resistance
(D) None of these

remains

The practical unit of electrical
energy is

(A) kW-hr

(B) watt-hr

(C) watt-second

(D) joule-second

Which of the following is not a
semiconductor material ?

(A) Silicon

(B) Germanium

(C) Aluminum

(D) Gallium Arsenide
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quT -
U Wiithes Reg-dash g

ISR 1 S -4 &1 9 A § "ifed
qare ?

(A) |

(B) gt

(C) Witz

(D) S

1 A ST |, HITE foed O,
& feu st 2 |

(A) T.EI. 1Ee 9% Sl 180°

(B) T.Hl. 31k 55 HI 360°

(C) U.Hi. 37a =3k T 120° IT A

(D) T.Hi. 37a% = 1 90°

-G Yatis il Tl FS e g ?
(A) 3T I=F FEF Ylaaren

(B) & f= Siees wifd

(C) 3ITeht I=0 STk Hfcamen

(D) 3uht F=r araren wfdamen

I oW ) fovg o & v e
B ® a1 faud RS |
(A) STmfiFa

(B) faadianfima

(C) fmfaER

(D) 3 H @ HIE T8

et et dia % foru, atiates e
(A) 34

(B) I

() fF=a

(D) T & S 7

106.

107.

108.

109.

110.
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e =1 fFrm T AT
e fopan s o |

(A) vt
(B) @i
(C) Ui
(D) Teudt

15 =

(A) 0.21
(B) 0.24
(C) 0.28
(D) 0.22

FAr |

UF JE aRay §
w®Ae |

(A) o g
(B) dleest

(C) ufrg

(D) T & FrE T

foregd Sl <t HTaITEs 390 2
(A) TpetrEme-se

(B) aR-HI

(C) TAR-TFHs

(D) Si-Hehe

fFr=fafas & @ -1 v sd=es
e T @ 7

(A) ol

(B) wmfFam

(C) eHifrm

(D) ferm anEarEe
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111.

112

113.

114.

115;
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Resistance of a wire always
increases if

(A)
(B)

temperature is reduced
temperature is increased

(C) number of free electrons available
become less

(D) number of free electrons available
become more

We use ICs in computer.

(A) Digital

(B) Analog

(C) Both analog and digital

(D) None of the above

The barrier potential of silicon diode is
about volts.

(A) 0.8
(B) 0.7
(C) 05
(D) 0.2

According to ohm’s law, R is equal to
(A) ViR

(B) I’/R

(C) VI

(D) VI

Capacitance is a ratio of
(A) Voltage to voltage
(B) Voltage to charge
(C) Charge to voltage
(D) Charge to charge

116.

117,

118.

119.

120.
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In a diode, flow of current is
(A) Unidirectional

(B) Bidirectional

(C) Reverse

(D) None of these

2 dissimilar charges have a difference
of potential and a unit of potential
difference is

(A) Ampere
(B) Newton
(C) Joule
(D) Volt

command in MS DOS is
used to display the contents of the file.

(A) Copy con
(B) Edit
(C) Type
(D) Ren

A microprocessor unit, a memory unit,
and an input/output unit form a

(A) CPU

(B) Compiler

(C) Micro-computer

(D) ALU

A computer converts data into
(A) Chart

(B) Software

(C) Input/output

(D) Information
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112.

113.

114,

15,
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AT o ) Bt &

A ¥ TR Bt

IUTTeY e giagA hl HEAT 92
s E

IUTSH T SAFZ ol HE g
STt &

(A)
(B)
(C)

(D)
T FIH IC SEIRT A & |
(A) Tesfiea

(B) TATATT

(C) wATAr 3R fesfeat a1

(D) Jot | & F1 A

fofersria fgudt = amaes fanm

Fed & T E |
(A) 0.8
(B) 0.7
(C) 05
(D) 0.2

31Ten % f3Rrg % S7gER R SR 2
(A) V2R

(B) PR

©) Vi

(D) VI

TG

(A) oS H Ao
(B) dleest ¥ T
(C) a9 | dieest
(D) & H AT

I S 2 |

116.

Ll

118.

119.

120.
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e Tyt o, fagm s v 2

(A) umHfasiE

(B) fafeefin

(C) 3

(D) 3 & 1S

2 fi1=1 31T | fEvarat e & iR Avan
&1 378 B

(A) wHfET

(B) A

(C) S
(D) diee

UH.Ug. ST FHIE TFIgel i
gt 29T 2 S Bl 2 |

(A) Copy con

(B) Edit

(C) Type

(D) Ren

U HTSShI I 5513, T WAt ST 31 U
HEH /T FHFETH S S |
(A) #4917,

(B) TSI

(C) WIS
(D) ALU

U FHIE ST A gfafda
EG

(A) =

(B) @i

(C) 3ITash /T

(D) =
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121.

122.

123.

124.
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A can copy a printed page
of text or a graphic into the computer's
memory, freeing us from creating the
data from scratch.

(A) Printer
(B) Plotter
(C) Painter

(D) Scanner

The software used for tasks such as
managing disks and troubleshooting
hardware problems is

(A) Utility

(B) Application Software
(C) Operating System
(D) Any software

Which symbol is used in flowcharts for
decision making ?

(A) Rhombus
(B) Circle
(C) Hexagon

(D) Parallelogram

What is the extension of files created in
MS Word 97- 2003 ?

(A) .dot
(B)
(C) .dom
(D) .txt

.doc

125.

126.

127.

128.

129.
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From what location are the 1% computer
instructions available on boot up ?

(A) ROM BIOS
(B) CPU

(C) Boot.ini

(D) CONFIG.SYS

A hard disk is divided into tracks which
are further sub-divided into

(A) Clusters (B) Sectors_
(C) Vectors (D) Heads

Most PCs give a single beep on boot up
to indicate they are OK hardware wise.
You boot your PC and steady, short
beep. What should you check first ?

(A) System board
(B) RAM

(C) Power supply
(D) Speaker

In Inkjet technology, the droplets of ink
are deflected by

(A)
(B)
(©)
(D)

multi directional nozzles
electronically charged plates
high pressure plates
electrostatic absorption

is a temporary holding space
in computer's memory for data that is
being copied or moved.

(A) ROM
(B) RAM
(C) EEPROM
(D) Clipboard
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wH 2R 1 ftheh o TR Hfea
U3 i et il A H id 591 v ©
i = G @ ST S A e S €
(A) ez

(B) @it

(C) Y

(D) T

oo wagm oft erdaa it auesti &
qe I S FET F o wgE S
I

(A) Frfad

(B) Ui Wi

(C) eraife feen

(D) S oft AR

foia-fmior &g FF-o1 G g = o
SR B 8 7

(A) FweS

(B) g4

(C) Wy

(D) wieR Sgyt

UH.TH. 9% 97- 2003 H SHTE 7S HISAl
foram g ?

(A) .dot
(B) .doc
(C) .dom

(D) .txt

125.

126.

127.

128.

129.
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2 AT H TG T H TIH Fg

Ry suesu e 8 2
(A) ROM BIOS
(B) CPU

(C) Boot.ini

(D) CONFIG.SYS

w2 o veet 3 1 fyanfira 2t 3
S i R e g |
(A) TR (B) @
(C) e (D) @@

e diEt S 319 W T |
%, 78 o9iA & fou 56 3 s i g §
Tet € | U 21 e i s B 3R
for, o1y @i o | s TaR vEd F=
AT 2 2

(A) Torew are

(B) RAM

(C) farega smgfd
(D) i

ToFIE dehles 1 T gm
a9(iE St € |

(A) =g feefra gz

(B) forma & safd avad

(C) 3=d g avadl

(D) farera fesr et

yfaferfy 599 3@ g2
Tt JAThel % fore et i 3 J v
STEIRA T |
(A) ROM
(B) RAM
(C) EEPROM

(MESECIS
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131.

133,
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Convert the fractional binary number
0001.0010 to decimal.

(A) 1.40
(B) 1.125
(C) 1.20
(D) 1.80

Which of the following is not an
application software package ?

(A) Redhat linux

(B) MS Office

(C) Adobe pagemaker
(D) Open office

The first electronic computer in the world
was

Which of the following are the two main
components of the CPU ?

(A) Control unit and registers
(B) Registers and main memory
(C) Control unit and ALU

(D) ALU and bus

How many address lines are needed
to address each machine location in a
2048 x 4 memory chip ?

(A) 10
(B) 11
(C) 8
(D) 12

135.

136.

137.

138.

139.
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memory retains its contents
as long as power is being supplied.
However, data is lost when the power
gets down.

(A) Dynamic RAM
(B) Static RAM
(C) ROM

(D) EEPROM

How many ‘function keys' are present
on a computer keyboard ?

(A) 10
(B) 11
(C) 12
(D) 13

Joystick is a/an

(A) Input device
(B) Output device
(C) Processor

(D) Memory device

The basic architecture of computer was
developed by

(A) John Von Neumann
(B) Charles Babbage
(C) B. Pascal

(D) Garden Moore

enables many people, located
at various terminals, to use a particular
computer system at the same time.

(A) Batch processing OS
(B) Time sharing OS

(C) Distributed OS

(D) Real time OS
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Which of the following is very similar to
avirus; it has the ability to self-replicate,
and can lead to negative effects on your
system ?

(A) Trojan

(B) Logic bomb

(C) Worm

(D) None of these

Which of the following text editor is
an application programs included in
windows operating system by default ?

(A) MS Word
(B) MS Excel
(C) Wordweb
(D) Notepad

is a database program that
can be used to track of diverse but
related information, such as customer
orders, customer billing information,
customer shipping information and
product inventories.

(A) MS Word

(B) MS Excel

(C) MS PowerPoint
(D) MS Access

is a general purpose register
used for storing variables, temporary
results and results produced by
Arithmetic Logic Unit of the CPU.

(A) Memory address register
(B) Memory buffer register
(C) Accumulator

(D) Instruction register

144,

145.

146.

147.
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1k bytes =

(A) 2°bytes
(B) 2'" bytes
(C) 2% bytes
(D) 2'bytes

Compiler converts

(A) Assembly level language to

Machine level language

(B)

Machine level language to
Assembly level language

Assembly level language to High
level language

High level language to Machine
level language

(C)

(D)

is a type of a scanner which
scans a whole 2-dimensional field at
once.

(A) Digital camera

(B) Flatbed scanner
(C) Optical mark reader
(D) None of these

is an output device, which
produces high quality diagrams on
paper.

(A) Dot Matrix Printer
(B) Scanner

(C) Plotter

(D) None of these
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What is gutter margin ?

(A) Margin that is added to the left
margin when printing

Margin that is added to right margin
when printing

Margin that is added to the binding
side of page when printing

Margin that is added to the outside
of the page when printing

(B)
(C)

(D)

Which of the following is not a
paragraph formatting ?

(A) Alignment

(B) Indentation
(C) Line spacing
(D) Underline style

Thesaurus tool in MS Word is used for
(A) Grammar options

(B) Spelling suggestions

(C) Synonyms and Antonyms words
(D) All of the above

To increase the space on the left for
just one paragraph in a page, you can
adjust

(A) Left indent
(C) Alignment

(B) Right indent
(D) Tabs

In which of the following referencing, the
cell reference does not change while
copying formulas ?

(A) Relative referencing
(B) Absolute referencing
(C) Mixed referencing
{D) None of the above

183.

154.

155.

156.
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By default, total number of columns in
MS Excel are

(A) 100
(B) 256
(C) 512
(D) 1024

In a PowerPoint, is a
connection from one slide to another or
a connection to a web page, or a file.

(A) Action button
(B) Hyperlink
(C) Autoshape
(D) None of these

view is used to show the final
presentation with all the effects and
colour schemes.

(A) Normal
(B) Outline
(C) Slide sorter
(D) Slide show

communication protocol
which has become very popular for
connecting communication devices
through various types of transmission
media such as copper, wireless and
optical fibre.

(A) Ethernet

(B) Internet

(C) IP

(D) TCP




o o
%

148.

149.

150.

151.

152.

-35-

T | TR 2
(A) HEI Fd THT I WIS 9T ST T
LIISE

(B) HEU T THT 1T AT UK Sl 71
LIISE

(C) HEUI Td W9 YS3 i serh el 31
g1 T AT

(D) HEW A WA Y53 F SR S 70
LISE

Ffafes # @ F9-w1 v uise
TrREd TR 72 & 2

(A) TETETHE

(B) 3SevH

(C) <A |fEm

(D) ST WA

.. 3§ R ED
o e BT # |

(A) =T e

(B) adH! TR

(C) waigaT=t 3% faadarte veg

(D) Iuger &+f

T U53 H helel Ueh G=se o foTu aRff 39K
STTE s % form a1y Eal
TR R HFd & |

(A) FFER  (B) FT

(C) sz (D) ¢=H
fFrefciiiad 3 § SF-ar g &3 8, g3
Sfaferid ST Ty O ged 78 steer 7
(A) ame gey

(B) foryys wand

(C) Tufra desf

(D) 3o | & S T

153.

154.

155.

156.

MKG-XVI/TECHCICHN/T/03

TH. 0. TS H @i 6 gd freif
qEAT R |
(A) 100
(B) 256
(C) 512
(D) 1024

T YleRuise o, U TAEE
1 g A AT U S ¥ T U Figel
e R |

(A) UM sied

(B) EEWfei=

(C) =Aeem

(D) 37 & IS 7

S at g TR 71 e
= |1y 3ifom wegfa feem % fore wga g
2| '
(A) EET=
(B) AT
(C) %ITse |k
(D) wTES T

AT et BIsR I8 o] §reamy o fafir
YR o AT § TGV 3T S F
foru sreafeer ARl @ T E |

(A) 3UTE

(B) 3eTHe

(C) ..

(D) & .d .




150
%

157.

158.
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161.

algorithms compresses
video data to reduce number of bytes
that can be easily transmitted and then
decompressed.

(A) MPEG
(B) JPEG
(C) PNG
(D) TIFF

is a data communication
technology which-allows IP phones and
computers to connect to telephones
through PSTN and mobile networks.

(A) VPN
(B) VolP
(C) TCP
(D) None of these

First modern telecommunication device
was

(A) Telephone
(B) Computer
(C) Television
(D) Telegraph

A web page can be written in the
language

(A) C++

(B) Python

(C) HTML

(D) Java

Which of the following is not a web
browser ?

(A) Yahoo
(B) Opera
(C) Chrome
(D) Mozilla firefox

162.

163.

164.

165.

166.
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Every web page has an address
associated with it. This address is
known as

(A) URL
(B) IP

(C) TCP
(D) Browser

A popular protocol for sending e-mail
is

(A) TCP
(B) UDP
(C) SMTP
(D) HTML

is a connectionless protocol
which does not guarantee the data
delivery.

(A) TCP
(B) ARP
(C) PPP
(D) UDP

domain is used for
educational purpose.

(A) .in

(B) .org
(C) .com
(D) .edu

A frivolous message sent to many
recipients through e-mail at once is a

(A) Worm
(B) Virus
(C) Threat
(D) Spam
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POP3 and IMAP are e-mail accounts
in which

(A) One automatically gets one's mail
everyday

(B) One has to be connected to the
server to read or write one's mail
(C) One only has to be connected to the
server to send and receive email
(D) One does not need any telephone

lines

Which one of the following is not an
Internet Service Provider (ISP) in
India ?

(A) VSNL

(B) BSNL

(C) ERNET India

(D) Infotech India Ltd.

Which of the following is not an
example of database management
system ?

(A) SAP

(B) .net

(C) Oracle

(D) None of these

Choose the option, which is not included
in networking.

(A) Access to remote database
(B) Resource sharing

(C) Power transferring

(D) Communication

&L

172.

173.

174.

175.
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is & technique in which

a dedicated and complete physical
connection is established between two
nodes for communication.

(A) Packet switching
(B) Circuit switching
(C) LAN

(D) All the above

The greater the bandwidth of a given
medium, the is the data
transfer rate.

(A)
(B)
(C)
(D)

Higher

Lower

both (A) and (B)
neither (A) nor (B)

TV remotes use type of wave.
(A) Near infrared

(B) Farinfrared

(C) Radio wave

(D) Ultraviolet wave

is designed to carry or
store data but not to display the data.

(A) XML (B) HTML
(C) JSON (D) Python

Process of uploading/saving the web
content on a web server to make it
available on WWW is called

(A) Web hosting

(B) Web hacking

(C) Web 2.0

(D) None of the above
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A small text file which contains the name
of the website that it has come from and
a unique ID tag is called

(A) Trojan
(B) Worm
(C) Spam
(D) Cookie

law was enacted by
Parliament of India to protect the field of
e-commerce, e-governance, e-banking
as well as penalties and punishments
in the field of Cyber Crimes.

(A) Cyber Crime Act, 2014

(B) Information Technology Act, 2000
(C) Cyber Punishment Act, 2018

(D) Internet Crime Act, 2010

type of viruses infect
and replicate when it gets attached to
MS DOS program with EXE or COM
extensions.

(A) Macro virus

(B) Boot sector virus
(C) File virus

(D) None of these

is a protocol for creating a
connection with a remote machine.

(A) Arpanet
(B) Telnet
(C) Internet
(D) Intranet

180.

181.

182.

183.
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is an electronic device that
amplifies the received signal and then
retransmits it on the network.
(A) Router
(B) Repeater
(C) Switch
(D) Gateway

topology provides a single
linear network cable to which all other
nodes are connected.

(A) Bus
(B) Star
(C) Ring
(D) Mesh

Which one of the following is not
in the category of communication
channels ?

(A) narrow band
(B) broad band
(C) light band

(D) voice band

works on the principle of

binary values.

(A) Analog computers
(B) Digital computers
(C) Hybrid computers
(D) All the above
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is the most commonly used
transmission media for LANS. It consists
of solid wire cores surrounded by one or
more foil or wire shields, each separated
by some kind of plastic insulator.

(A) Twisted pair cable
(B) Coaxial cable
(C) Infrared

(D) None of these

In technology, each
user is allowed to transmit only within
specified time intervals.

(A) FDMA
(B) CDMA
(C) TDMA
(D) None of these

is used for communication
between two computers using a serial
interface mostly a personal computer
connected by phone line to a server.

(A) SMTP
(B) Point to point protocol
(C) MTA

(D) POP2

In a 7 layer TCP/IP model,
is the top most layer.

(A) Physical layer
(B) Datalink layer
(C) Network layer
(D) Application layer

188.

189.

190.

191.
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Which of the following protocols
maintains a free pool of assignable IP
addresses for new hosts connected to
the network ?

(A) DHCP
(B) TCP/IP
(C) UDP

(D) FTTP

In a client-server paradigm, bidirectional
communication nodes are termed as

(A) Queue
(B) Stack
(C) Socket
(D) None of these

In context of the Internet, the number
of bits transferred by a channel per unit
time is

(A) Frequency

(B) Bandwidth

(C) Wavelength

(D) None of these

Which datalink protocol is commonly
used to establish a direct connection
between two nodes over a
communication path ?

(A) TCP
(B) IP

(C) PPP
(D) POP
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(A) TCP

®) IP

(C) PPP

(D) POP
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A computer that facilitates sharing of
data, software and hardware resources
on the network is known as

(A) Server (B) Client
(C) Node (D) Workstation

What is the approximate bandwidth of
a typical voice signal ?

(A) 2 GHz (B) 2MHz
(C) 3 KHz (D) 3 MHz

is an eight wired connector
that is used to connect computers on a
local area network.

(A) RJ10
(B) RJ11
(C) RJ35
(D) RJ45

An |IP address is a bit
binary number usually represented as
4 decimal values.

(A) 4
(B) 8
(C) 16
(D) 32

Which among the following is not a
language processor in a computer
system ?

(A) Assembler

(B) Defragmenter

(C) Translator

(MY Compiler

197.

198.

199.

200.
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is a terminal with its own
memory processor and a firmware
that can perform certain functions
independently.

(A) Dumb terminal
(B) Intelligent terminal
(C) Both (A) and (B)
(D) None of these

Communication over a phone system
is an example of
communication.

(A) Serial

(B) Parallel

(C) PS/2

(D) None of these

Which among the following is not an
open source text editor tool ?

(A) Kwrite

(B) StarOffice Writer

(C) Openoffice.org Writer
(D) None of these

ISDN is telecommunication technology
where can be transmitted.

(A) Simultaneous voice and data
(B) Only voice

(C) Only data

(D) None of these
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U HE Sl Hedeh W ST, Wi 3R

TSI GETHHT <l AT G I Giem yam
FAT R, T 2l
(A) @& (B) 2
(C) s (D) THLIA
U YelehTereh Safe Hehd i o g
<rers &
(A) 2 GHz (B) 2 MHz
(C) 3KHz (D) 3 MHz

T 3713 a1 ol Fgel 8, S T
T &5 ST T e B Sited o forg
S B 2
(A) RJ10
(B) RJ11
(C) RJ35
(D) RJ45
Ay s foe feenurd
TEAT &, S GI; 4 SYTHd W o €9 8
YT ST © |
(A) 4
(B) 8
(C) 16
(D) 32

Frafaftaa ¥ @ 9 -1 v F Rrea d
ST TEEH TE 8 7

(A) ST

(B) fewmiex

(C) T

(D) FUER
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200.
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U etiae @ e e ae
TR 3R U FHAIR BT &, S S F
I T A FGFATR |

(A) ¥ e

(B) Sfemm e
(C) (A) 3 (B) 3
(D) 38 | s &

Ush R e o HIur
1 T 3STEWT 2 |

(A) #ofrra

(B) dHMIH

(C) PS/2

(D) T & IS

frafafiaa # & #F-w1 & g |6 owe
ufeet g e © 2

(A) e

(B) RRAMHH 5L

Hygu

(C) Openoffice.org Writer
(D) T & s T

S v, 2., U RN G €,
Wel_ genia foe s aend €1
(A) @ 3R S U Ty

(B) Haet Al

(C) e B

(D) 7 ¥ =1
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14,

15.
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18.

19.
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iufigani o fore wewagut e

This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
againstthe question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

0800

Wrong Method

0®00

Wrong Method

O®0O0O

The Candidate must mark his/her response
after careful consideration.

Carract Method|

Ce0O

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17.

18.

19.

39 gftre 1 48 99 2|

Frdw : I WA SUET TS AP FUA 5 9©
TR I 3T [oh H2F G T & | Tedah g9
H FT9eh! ToRHl e i AT @ S I 1 FEl I
< A1 FHYA T T HL 3T TR I GG §
UG MR @H A, B, C 31 D =t e 31 e
FiA-Tige U § Fre (@) FE1 & | (gfeniiE
Iefiganl & fou gwa meaer f@fas gm
et fera wim)

e W % T 3 9 @ faree e 31

I ford | 3 =1 fom g W 81 fomifa # |
Toaifera = = w8t alie A= fem mn 2

e ateh || 7o alient|| T Tl HE aftw
ol Jolel (ol%iele] (elC)o)o] (6] NeXe!

31veff 1 YT I ATIEE S foE 3 ST
fafa =t =1few |

T WY I Hae U B WA I 2 | I
Hyfed iem 319 A, B, C 31 D 3 MehR @
1 HIeT (@) F1 8 | Afg 3ma Foreht w6 wrA
Teh 8 37k TMehR. @ 1 W (@) a1 309
I A T SR |

Iz fordt w7 & &= aun omft e § #E
IR R a1 ISA TG HI & FE FHS S |

Fed HH & foU FHaer w7 o3 § fu 3 w=0E @@
S | I A W Feal HE A B

30 Yfecrent o 31T 3NIeht TR 3ifha T@ & £ |
IR hael IR UTeR | g 3]

Go through instructions given in Page No. 1 (Facing Page)
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